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1 OLIEHOYHBLIE MATEPHUAJIbI 110 OCBOEHUIO JAUCLUTLIMHBI
(MOJYJIST)

Tekymuii KOHTpPOJIb YCIEBAa€MOCTH OOECIEYMBAET OLEHMBAaHUE XOa
OCBOCHMUSI TUCITUILIIUHBI (MOJTYJIs).

[IpoMexyTouHass aTTecTamys TMpEeIHAa3Hau€HA I OIECHKH JTOCTHXKEHUS
3allJITaHUPOBAHHBIX ~ PE3YJIbTAaTOB  OOYYCHHsSI 10  3aBEPIICHUI0  U3YYCHUS
JTUCITUTIINHBL (MOJIY/Is1) W TIO3BOJISIET OIICHUTHh YPOBEHb W KAUeCTBO €€ OCBOCHUS
O0yJarOIIIMHUCS.

KoMIuIekT OIeHOYHBIX MaTepHaloB MPEACTaBISACT COOOW COBOKYITHOCTH
OIICHOYHBIX CPEIACTB (KOMIUIEKC 3aJaHWil Pa3IMdHOTO THMA C KIIOYaMH
MpaBUIBHBIX OTBETOB, BKIIIOYAsh KPUTEPUU OIICHKH), MCIHOJIb3YEMBIX MpHU
MPOBEJICHUM OLIEHOYHBIX TpoUeAyp (TEKyIIero KOHTPOJIS, MPOMEKYTOUHON
arTecTallii) C IEJbI0 OILEHUBAHMS JIOCTHMIXKEHUS OOydYalOIIMMHKCS PEe3yJIbTaTOB
oOy4YeHHs M0 AUCIUIUIUHE (MOJYJIIO).

1.1 OneHounsle cpenctBa W OaIbHbIE OLEHKM I KOHTPOJIBHBIX
MEPOIPUATHN

Tabnuma 1.1,a - O6beM TUCHUTITUHBL (MOIYIS) I OUHOM (HOPMBI O0yUYEHUS
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JUCHUIUIMHE (MOAYJI0) OCYILECTBIISIETCA B COOTBETCTBUU C OANIBHO-PEUTUHTOBOM
cuctemMoii mo 100-OamnbHONM 1Kasme. bayuibHble OLEHKHA ISl KOHTPOJIBHBIX
MepomnpuaTUid mpeacTaBieHsl B Tabmuue 1.2. Ilepecuer cymmbl 0aminoB B

TPaJMLIMOHHYIO OLIEHKY IIPEICTaBIIeH B Tabnuie 1.3.

Tabnuna 1.2 banibHble OLIEHKH TSI KOHTPOJIBHBIX MEPOTIPUATUI

HaunmeHnoBanue MaxkcuManbHBIN MaxkcumManbHBIH MaxkcuMaILHBIN Bcero 3a
KOHTPOJILHOT'O OaJI1 HA TIEPBYIO OaJL1 32 BTOPYIO 0aJl 3a TPETHIO ceMecTp
MEPOTIPHUSITHS aTTeCTaIUIo aTTECTaIHIO aTTECTALINIO

4 cemecTp
TectupoBanue 4 4 4 12
Amnanus u pedepar 6 6 6 18
TEKCTa
JlexcnyecKkuii TUKTaHT 3 3 3 9
KoHTposibHOE 3a/1aHKe 3 4 4 11
Htoro (MakcuMyMm 3a 19 18 13 50
TIEPHOJT)
3auer 50
Htoro 100

Ta6muna 1.3 [llkana oreHKy Ha TPOMEXKYTOUHOM aTTeCTalluu

CrnoBecHoOe BbIpaXXeHHE MTPU
dbopMe TpoMEKYTOUHOM
aTTeCTAIN! — YK3aMeH, 3a4eT

CrnoBecHOE BbIpa)XeHHE MPU
(hopMe TPOMEKYTOUHOM
aTTeCTAIlNH - 3a4YeT

Bripaxkenue B Oannax

C OIIEHKOM
ot 86 1o 100 3auTeHo OTan4HO
ot 71 no 85 3auTeHo Xopouio
ot 51 1o 70 3auTeHo Y IOBJIETBOPUTEIBHO
10 51 He 3aureHo HeynoBiersopurenbHo

CDopMa N OpraHu3anuia HpOMe)ICYTOqHOﬁ aTTeCraguu 110 UTOraM OCBOCHUA
AUCHUIIIIMHBI — 3a4CT IMPOBOJAUTCA B JBaA 3Tallda: B BUAC UTOI'OBOI'O TCCTUPOBAHUA

MOPOTOBbI YPOBEHb M B (POpME 3aIlIUTHl MOHOpedepaTa U 3HAHUS II0CCaApPUs 10

TEMC.

1.2 OueHouHble cpencTBa sl IPOBEACHUS TEKYIIETO KOHTPOJIS

1.2.1 TectoBbie BOMPOCHI

TecTtoBplE  BOIPOCHI

coJiepiKat

CIEAYIOIINE

THIIBI BOITPOCOB C

COOTBCTCTBYIOIINM KOJUYICCTBOM 0aJj1I0B 3a Hp&BHJ’IBHBIfI OTBCT:

Tun Bonipoca

KonuuectBo 0aimioB 3a HpaBHJ’IBHBIfI OTBET

3a11pocC BBI60pa BAapHWaHTOB OTBCTA

1




4 cemecTp TeKywasi arrecrauus 1

1 The girl ... on the blackboard is our best pupil.
a) writing
b) written
¢) having written

2 Read the ... sentences once more.

a) translating
b) having translated
c) translated
3 Everything ... here is quite right.
a) writing
b) having written
C) written
4 ...the floor Helen watched a new movie.
a) washing
b) having washed
c) washed
5 The exercises ... by the pupils were easy.
a) having done
b) doing
c) done
6 ...the story, she closed the book and put it on the shelf.
a) having read
b) read
c) reading

7 The house ... by tall trees is very beautiful.



a) surrounding
b) surrounded
c) having surrounded
8 ... his homework, he went for a walk.
a) doing
b) done
c) having done

9 I picked up the pencil ... on the floor.
a) lying
b) lain
¢) laid
10 She was reading the book ...the day before.
a)buying
b) bought
c¢)having bought
11 ... all the fruit, he went to see his friends.
a)selling
b) having sold
c)sold

12 ...out all the new words, he was able to translate the text easily.

a) writing
b) having written
C) written
13 It was not easy to find the ... stamp.
a)losing,
b) lost
c)having lost
14 Here is the letter ... by me yesterday.
a)receiving,
b) having received
C) received

15 ... through some magazines, I came across an interesting article about UFOs.

a) looking



b) looked
c) having looked

16 | have read only some of that new book because it's very ...

a) boring
b) bored
c) having been bored
17 When they finally reached the top of the hill, they were ...

a) tiring and exhausting
b) tired and exhausted
¢) having been tired and exhausted
18 A new private ... station has begun to function.
a) broadcasted
b) being broadcasted
c) broadcasting
19 He had found a ... umbrella and didn't know what to do.
a) broken
b) having been broken
c) breaking
20. Do you know the girl ...in the garden?
a) playing
b) having played
c)played
21 The book ... by this scientist is very interesting.
a)having written
b) writing
C) written
22 Translate the words ...on the blackboard.
a) writing,
b) having written
C) written
23 We could not see the sun ... by dark clouds.
a) having covered
b) covering,
c) covered
24 The ....book was found at last.
a) losing,
b) having lost
c) lost



25 By 1960 the numbers of cars in the world had reached 60 million, no other
industry having ever developed so quickly.

a) Yucio mammH B Mupe K 1960 romy nocturio 60 MIIIHOHOB TpU OBICTPOM
Pa3BUTHH IPYTUX OTPACICH MPOMBIIIIIEHHOCTH.

b) K 1960 roaxy umciio aBToMOoOWJIeli B MHpe AOCTUIJIO0 60 MULINOHOB,
npuyeM HHM OJHA JAPYyras NPOMBINLJIEHHOCTh He Pa3BHBAJACh TaK
ObICTpO.

c) Korma Hu ojHa oTpacib MPOMBINUICHHOCTH HE pa3BHBasiach, K 1960 roay
KOJIMYECTBO aBTOMOOUJIEH B MUPE TOCTUTIO 60 MUITIIMOHOB.

26With the current being switched on, the machine automatically starts operating.

a) Co BKJIIFOUECHHBIM TOKOM MaIlliHA HAYHET pa60TaTB ABTOMAaTHU4YCCKH.
b) Koma BR/IKIOYAaK0T TOK, MAallIUHA HAYHUHACT paﬁoTaTL ABTOMAaTH4YCCKH.
C) Toxk BKJIFOYAIOT, 1 MalllMHAa HAYHUHACT pa6OTaTB ABTOMATHUYCCKH.

27. The computer designed to use 1C were called third generation computers.

a) KommnbloTepbl, CKOHCTPYHpPOBaHHbIe 4YTOOBI  HMcnoJb3oBath HUC,
Ha3bIBAJMCH KOMIIBIOTEPAMH TPETHEro NMOKOJICHHUS.

b) KommnbroTepsl CKOHCTpyHpOBaJM, 4TOOBI Mcnoib3oBath MC u Ha3Baim ux
TPETHUM TTOKOJICHUEM.

c) KommbroTepbl Ha3bIBaMCh TPETHUM TOKOJICHHWEM, IOTOMY 4YTO B HHX
ucnoabs3oBanucs C.

28 The transistor ... in 1948completely changed the vacuum tubes.

a) invented
b) being invented
Cc) inventing
29 Electronic and mechanical equipment in a computer system is ...
a) software
b) hardware
c) welfare

30 The process of preparation a set of coded instructions for a computer is called

a) calculating

b) composing



C) programming
31 A set of programs, procedures and associated documentation is called ...
a) integrated circuit
b) transistor
c) software
4 cemecTp TeKylas aTrecTanus 2

32 We are looking forward to ... on a tour of Paris by our French friends.

a) being taken
b) having been taken
c) taking
33 He followed up this remarkable declaration by ... his head.

a) having shaken
b) shaking
c) shook
34 When we had finished ..., the waiter brought us the bill.

a) eaten
b) to eat
c) eating
35 Would you mind ... the front door?
a) having closed
b) to close
c) closing
36 Why have you stopped? Go on ...
a) toread
b) reading
c) read
37 I can’t help ... about that awful accident.

a) to think



b) thought
c) thinking

38 What do you feel like ... for breakfast?
a) to have

b) having
¢) had
39 We are looking forward to ... on a tour of Paris by our French friends.
a) being taken
b) to take

c) having been taken
40 Most people enjoy ... to different parts of the world.
a) to travel
b) having travelled
c) travelling
41 | remember... a woman outside when | went in.
a) to see
b) seeing
C) saw
42 Before signing the contract, he wanted to get the approval of the chairman.

a) Ilepen noanHcaHHeM KOHTPAKTAa OH XOTeJ MNOJYYHTh OJ00peHue

npeacenaTes.

b) Ilepen mnoanKcaHueM KOHTPAKTa OH XO4YeT TOJIYYHTh pa3peIieHue
npeiceaTes.

c) Ilepen moamucaHueM KOHTPakKTa OH XOTEN  H3BHHUTBHCS  IMEpe.
npe/ice1aTeIeM.

43 The girl... next to Emma is her niece.
a) being sat
b) having been sat
c) sitting

44 You must keep on ... the computer until you understand how ... all
of the programs.



a) practise, to use
b) practising, using
c) practising, to use

45 Most passengers dislike ... in small, uncomfortable seats on transoceanic
flights.

a) sitting
b) sit
c) to sit
46 ... nothing about the trouble, my grandfather felt comfortable and quiet,
d) Having been told
e) Telling
f) Having told
47 The guide promised ... the tourists at the station.
a) meeting
b) to meet
c) met

48 Instead of... the letter, she went away.
a) finishing
b) finish
c) to be finishing

49 The letter... yesterday was most welcome.
a) receiving
b) having received

c) received

50 All of them enjoyed ... tennis.
a) to play
b) playing
c) play

51 Stop ... at me! I'll get everything finished before I go to bed.

a) to grumble

b) grumbling



c) to be grumbling
52 | look forward to ... you the next time I'm in town.

a) see

b) to see

C) seeing
53 While ... the street in the wrong place, the boy was stopped by the
policeman.

a) crossing

b) being crossed

c) having been crossed
54 Although my father slammed on his brakes, he couldn't ... the dog that
suddenly darted out in front of the car.

a) avoid to hit

b) avoid hitting

c) be avoided hitting

55 ... their supper, the family started watching television.
a) Being finished
b) Having finished
c) Having been finished

56 | couldn't help ... when heard the joke.
a) to laugh
b) laugh
¢) laughing

57 The customs officer opened the suitcase ... if anything illegal was being
brought into the country.

a) to see

b) seeing

c) to be seen
58 I can’t help ... about that awful accident.

a) to think
b) thinking
c) thought



59 Why have you stopped? Go on ...
a) read
b) to read
c) reading

60 You must... English wherever you can.
a) practise speaking
b) to practise speaking
c) practising
61 My car needs a service badly, and Tom offered ... me with it.

a) to help
b) helping
c) helped
62 The city council seems ... the architect's design for a new market.
a) to have accepted
b) accept accepting
c) to be accepted
63 They would like ... to Bill's party.
g) having invited
h) to be invited

1) to have been invited
64 Although I was in a hurry, I stopped ... to him.

a) to talk
b) talking
c) having talking
65 You should ... to other people instead of... about yourself all the time.
a) to listen, to talk
b) listen, talking

c) listening, to talk



66 Jane seems ... some weight. How long has she been on a diet?
a) to have lost
b) having lost
c) lost
67 Nobody can expect you ... overtime
a) working
b) work

c) to work
68 All parts of London seem ... to different times and epochs.

a) to belong
b) belonging
c) belonged

69 My grandparents made me ... them next week.
d) to promise to call
e) promise to call
f) promising to call

4 cemecTp TeKylIas aTrecTamus 3

71 ... 1s a financial centre of London.

a) The East End

b) The West End

c) The City

d) Westminster

72 The US flag has ...stars and ... stripes on the blue background.

a) 50,13,
b) 51,14
c) 48,23
d) 53,12

73 ... was the British Prime Minister during the Second World War.



a) Benjamin Disraeli

b) Margaret Thatcher

¢) Winston Churchill

d) John Major

74 The Royal family lives in ....
a) Ne 10 Downing Street

b) Buckingham Palace

c) Westminster Palace

d) Tower of London

75 The spirit of adventure means that Americans .....

a) hate changes
b) love changes
c) like travelling
d) like ancient things
76 The climate of England is .....

a) rainy and cold
b) mild and wet
c) dry and warm
d) hot and changeable
77 There are ... bridges across the Thames.

a) four
b) six
c) fourteen
d) ten
78 The working class of London live ....

a) Inthe West End
b) In the center of London
c) in City
d) in the East end
79 Washington produces.....

a) scrap paper
b) cars
C) computers
d) trains
80 The Americans put an emphasis on....
a) sociability
b) punctuality



C) privacy
d) hospitality

81 The plant will produce the new type of machine-tools now being imported from
abroad.

a) 3aBoj1 MPOU3BOUT HOBBIM THUIT HHCTPYMEHTOB, BEIBOSHMBIX 3arPaHHMILY.

b) 3aBox BBIMYCTHI HOBBIH THIT CTaHKOB, KOTOpBIE ceHYac BBIBO3SAT 3a
I'PaHHULLY.

C) 3aBox Oyaer NPOW3BOAUTH HOBBI THI CTAHKOB, KOTOpbIe ceiiuac
BBO3ST M3-32 IPAaHUIBL.

82 The substances obtained we subjected to a chemical change.

a) MbI noABepPriin XUMHYECKOMY BO3/1elCTBHIO NMOJTy4YeHHOE BeleCTBO.

b) CyOcrannus ObuIa TOABEPrHYTa XUMHUECKOMY BO3JICHCTBHIO.

C) Mbl monyumim BemiecTBA M CHACNANIM WX HPEAMETOM XHUMHUYECKOTO
U3MCHEHUSI.

83 The first generation computers were ... and often burned out.

a) unreliable
b) uncomfortable
c) unsociable

84 The data needed for solving problems are kept in the ....

a) input device
b) memory
C) output device

85 Being able to use a computer is an important ... nowadays.

a) license
b) degree
c) skill

d) qualification

86 Random access memory is automatically ... when the power is turned off.

a) inserted
b) deleted
c) added

d) attached

87 ...is a standardized method of transporting information across the Internet in
packets of data.

a) IP



b) HTTP
c) WWW
d) PC
88 The hard drive ...all information and holds it when the computer is turned off.
a) stores
b) damages
C) processes
d) installs

89 ... is the primary chip of the system that oversees all the other components of
the system.

a) Processor
b) Interface
¢) Motherland
d) Memory
90 ... modems transmit modulated data using electromagnetic waves.
a) Wireless
b) Array
c) Fiber optic
d) Cable
91 ... 1s a secret code that enables someone to access a file, computer or program.
a) Codeword
b) Password
c) Cross-word
d) Keyword
92 If the solid is heated, it ...

a) will expand,
b) would expand
c) expanded
93 The motion of electrons will increase in case we ...

a) would rise the temperature
b) rise the temperature
c) will rise the temperature



94 If he had examined the motor, he ...

a) wouldn’t switched it on.

b) wouldn’t switch it on

c) wouldn’t have switched it on
95 In case they created the device, they ...

a) will conduct interesting observations.

b) would conduct interesting observations

c) would have conducted interesting observations
96 We will continue research if the necessary data ...

a) will be received .
b) is received .
Cc) are received .
97 The reactor would be brought into operation provided all the preparations ...

a) would be completed.
b) were completed
c) completed
98 The mechanism is provided with a special device for the whole system ...
automatically.
a) functioning
b) to function
c) function
99 We know the machine ... to a series of electrical impulses that can be
represented in binary numbers
a) to react
b) reacting
c) have react
100 Printers are known ... greatly in performance and design.
a) varying
b) vary
c) tovary

1.2.2. 3agaun (pacyeTHbBIC 3a/1a4N)

Pemenne 3ama4 yueOHBIM MJIAHOM HE TIPEIYCMOTPEHO.

1.2.3. Pedepart (Occe, nokman)

Pedepar (Dcce, noknan) yueOHbIM IJIAHOM HE MPETyCMOTPEHBI.
1.2.4 BeinosineHue 1adopaToOpHBIX padboT

JlaGopaTopHble pabOThl y4eOHBIM TUIAHOM HE TIPETYCMOTPEHBI

1.2.5 PacueTHo-rpaduueckas padora
PacuetHo-Tpaduueckas pabota yueOHbIM IJIAHOM HE MpeyCMOTpeHa



1.2.6 Bonpock! Ha 3aHATUAX (OMPOC, OHJIANH-OIPOC)

Onpoc Ha 3aHATUSAX MPEANOIAraeT OTKPBIThIA OTBET

IIprmep BOIpOCOB HA 3aHATHSX

Ne Tun Bonpoca Bonpoc Bapuantsl oTBeTa
1 | OTKpBITBIN OTBET What are the most striking | The most striking features are
features of the English? egoism, a strong sense of
individualism and intolerance
to outsiders.
2 | OTKpBITHIH OTBET What are the four parts of | The four parts of London are
London? the City, the West end the East
end and the Port.
3 | OTKpBITHII OTBET What features are common to | The climate is wet and the
the climate of this country as a | Weather is changeable.
whole?
4 | OTKpBITHII OTBET What do the Americans put an | They put an emphases on
emphasis on? punctuality.
5 | OTKpBITHIH OTBET What is the only industry in | The only industry in
Washington? Washington is government.
6 | OTKpBITHIA OTBET Why does the weather often | The weather often changes
change in England? because of the Atlantic Ocean.
7 | OTKpBITHI OTBET What is a software? It is the set of computer
programs,  procedures and
associated documentation that
make possible the effective
operation of the computer
system.
8 | OTKpBITHII OTBET What is a hardware? These are the physical
components of a data
processing system such as a
monitor or an input unit.
9 | OTKpBITHII OTBET What is secondary storage and | It is a slower less expensive
what is it used for? storage used as needed.
10 | OTKpBITHIH OTBET How are storage media | They are classified as primary
classified? storage or secondary storage on
the basis of combinations of
cost, capacity, and access time.
11 | OTKpHITHIN OTBET What is the access time for | The time required for the
storage media? computer to locate and transfer
data to and from a storage
medium.
12 | OTKpHITHIN OTBET What are electronic storage | Electronic memories have no

devices?

moving mechanical parts and
data can be transferred into and
out of them at very high
speeds.

1.2.7 KypcoBas pabota




KypcoBas paboTa yueOHbIM IJIAHOM HE IPEIYCMOTPEHA

1.3. OueHouHbIE CpeACTBa IJIsi MPOBEACHUS MPOMEKYTOUYHOTO KOHTPOJIS
(TPOMEXKYTOYHOM aTTECTAIIUH )

Cemectp Bun By KOHTPOIBHOIO MEPONIPUATHUS bamibHble
IIPOMEKYTOUYHON OLCHKH
aTTecTaluu
4 3auer TecToBbIe 3a1aHUs 0-20
PedepupoBanue 1 aHHOTUPOBAHUE TEKCTA. 0-20
3HaHue rioccapus Mo KapToukam 10

1.3.1. TecToBbie 3aaHusd

TectoBBIC 3aJaHusA HpOMG)KYTO‘-IHOﬁ arTcCTalluu IIPCACTAaBIIAIOT coOoM

COBOKYITHOCTb TE€CTOBBIX BOIIPOCOB TEKYIIET0 KOHTPOJIS.
1.3.2 KomruiekcHoe 3a7aHne (3a4eTHBINA TEKCT U KapTOUYKa C BOIIPOCAMH)

1.3.2.1 Bonpochl Ha 3a4yeTe/sK3aMeHe (BOIPOCHI 3a4eTa)

Bomnpockl 3ayeta paBHOIIEHHBI 1O TPYJHOCTH, OJMHAKOBBI IO CTPYKTYpE,
napajuiebHbI [0 PACIIONIO0KEHUIO 3aJaHHM.

HeobGxonumo camMoCTOSITEIbHO BBIOpATh TEKCT MO CHEHUATBHOCTH C
OPUTMHAIBHOTO aHTJOs3bIYHOro0 caiita odsemMom 3000 m.3. 06e3 mnpobOenos,
MIEPEBECTH €r0 M Ha 3a4eT MPEAOCTaBUTh pedepaT TaHHOTO TEKCTa U aHHOTAITUIO K
HeMy 1o oOpasiyy. Tak ke TpeOyercs BBIYUYUTh TJIOCCAPUNA — HEOOXOAMMBIN
MUHHUMYM JIEKCUKH 10 CIEIUATLHOCTH.

[Tpumep TekcTa amns pedpeprupoBaHus:

Nimbus Rises In World Of Cloud Computing

ScienceDaily (May 25, 2009) — Cloud computing is a hot topic in the
technology world these days. Even if you're not a tech-phile, chances are if you've
watched a lot of television or skimmed a business magazine, you've heard someone
talking about cloud computing as the way of the future. While it's difficult to
predict the future, a cloud computing infrastructure project developed at Argonne
National Lab, called Nimbus, is demonstrating that cloud computing's potential is
being realized now.



So what exactly is cloud computing? There are varying definitions, but
cloud computing is essentially a form of distributed computing that allows users
the ability to tap into a vast network of computing resources through the Internet to
complete their work. If, for example, someone wanted to analyze traffic patterns on
the nation's highways, they could upload and store their data into the 'cloud' and
have multiple computers crunch the data and then present the results back to them
in a unified way as if the work were completed by one giant machine.

Why the word ‘cloud? Some sources believe the term originated in 20th
Century telephone systems. Kate Keahey, the lead on the Nimbus project at
Argonne, believes the phrase was created when researchers were trying to visualize
this type of computing on a whiteboard and made a circular set of squiggles to
represent the many components in the internet that would do the computational
work. Since these drawings looked liked clouds, Keahey says, researchers soon
started saying that data would go 'up to the cloud' for processing.

If all of this sounds familiar, you may have heard this concept before,
according to Keahey. Previous decades brought us something called grid
computing, which was another type of distributed computing that allowed users to
tap into computing resources through a network to get their computational jobs
done. But Keahey argues that cloud computing is an evolution of grid computing,
with some important differences. With grid computing, you submit what you want
computed to a batch scheduler, which puts your job in a queue for a specific set of
computing resources, for example a supercomputer, to work on.

"This means you have no control over when your job might execute,”
Keahey says. You may have to wait as long as a few days before your job is called
up, and you're pretty much at the mercy of how that particular grid asset is set up.
If its configuration doesn't quite match the complexities of your job, fixing the
problem may get very complicated.

Cloud computing, on the other hand, can greatly mitigate this one-size-must-
fit-all approach to distributed computing. Many cloud computing platforms allow
users to know ahead of time how much computing capacity is available from the
cloud, so the work can be done faster. Users can also configure a 'virtual machine'
that exists within the cloud to meet the particulars of the jobs they are trying to
accomplish. Once a user has configured the type of virtual machine they need for
their work, they can go to different cloud computing providers and recreate the
system they need to get their jobs done, making computation power a commodity.



Nimbus is an example of such an adaptable system. Keahey and her team
developed this open source cloud computing infrastructure to allow scientists
working on data-intensive research projects to be able to use such virtual machines
with a cloud provider. Nimbus also allows users to create multiple virtual machines
to complete specific computational jobs that can be deployed throughout the cloud
and still work in tandem with each other. This flexibility allows a user to configure
a virtual machine and then connect it to resources on a cloud, regardless of who is
providing the cloud.

Having this kind of flexibility and on-demand computing power is vital to
projects that are extremely data-intensive, such as research efforts in experimental
and theoretical physics. Nimbus has already been deployed successfully to support
the STAR nuclear physics experiment at Brookhaven National Laboratory's
Relativistic Heavy-lon Collider. When researchers there needed to turn the massive
amounts of data they had generated into viable simulations for an international
conference, they used Nimbus to create virtual machines that were run through
commercial cloud computing providers.

Creating the virtual machines was relatively easy. "With Nimbus, a virtual
cluster can be online in minutes,"” Keahey says, and the computing cloud they
tapped into provided the computational power they needed to get the simulations
done on time. Keahey and her team are now collaborating with CERN in Europe to
process the data generated by physics experiments being done there.

Keahey and others in the field believe that this use of custom-crafted virtual
machines there are relatively easy to configure on computing clouds will handle
more and more of the heavy computational lifting in the future.
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Card 3 Translate the words
| Performance

Transmit

Hardware

Cable

Binary code



Il - nmens,cxema

- MOZYJISITOP

- HanpspKCHUEC

- CE€Th

- OIICpaTHBHAA IIaMATh

Card 7 Translate the words

I CPU (central processing unit)
Impulse

Resistivity

Digital

Rectifier

Il - knaBuarypa

- TEJICKOMMYHUKAIUS

- TPAH3UCTOP

- OllepalliOHHAs CUCTEMA

- CIIyTHUK

Kpumepuu oyenusanus

ITepeBoa, pedepar U aHHOTUPOBAHUE TEKCTA JOJKHBI OBITH BBIIIOJHCHBI B
IIOJIHOM O0BEME.

CyMMapHO olleHHMBaeTcs paboTa Mo pedepHpoBaHUIO TEKCTa M OTBETHI Ha
BOMNPOCHI IO TJOCCAapUI0 B KapTouke. OTBEThl JOKHBI OBITH IOJHBIMH.
O1icHHBACTCS TPAMOTHOCTD M3JIOKECHHS pedepara v YeTKOS 3HAHUE TEPMUHOJIOTHU
U3 TJI0CCapusl.

Ilpumep bannbHOU cucmemvl OUCHUBAHUSL:

KonuuectBo
Kpurepun onennBanus
0aJI0B
- Pedepar Ttekcta coctaBneH mo oOpas3iy B mojdHOM oObeme. CTyneHT
W3JIaraeT ero 6e3 omopsl Ha MUCHhbMEHHBIM TEKCT. 92.30
- CocraBiieHa aHHOTAlMS TEKCTa
- CTy[eHT 3HaeT U YeTKO U3JaraeT mepeBobl TEPMUHOB U3 TIIOCCAPHS




Pedepar Tekcra cocTaBiieH C HE3HAYUTENbHBIMUA oOmKOKaMu. CTyIeHT
U3JIAraeT €ro ¢ OOJBIITUM TPYIOM.

- AHHOTAIIMSI TEKCTa COCTABJICHA HETPAMOTHO.

- CTyIeHT IJI0XO 3HACT MEPEeBOJIbI TEPMUHOB U3 TIIOCCAPHS, JeIacT MHOTO
OIMOOK.

11-21

Pedepar tekcra cocraBneH HeBepHO. CTyACHT YUTaeT pedepar.
- AHHOTaIMsI TEKCTa OTCYTCTBYET HJIM COCTaBJI€HA HEBEPHO.
- CTyZIeHT NPaKTUYECKHU HE 3HAET NMEPEBO/Ibl TEPMUHOB U3 TJIOCCAPHUSL.

5-10

Pedepar Tekcra cocraBiieH HEBEPHO.
- AHHOTaIMS TEKCTa OTCYTCTBYET.
- CTyZIeHT MOXET OTBETUTH 1-2 clioBa U3 TiIoccapus.

1-4

-OTBCT HC ITOJYUCH.




